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A, Vigure (%) shows u elreular coll immersed in # regular magnetic fleld

perpendicular (o the coll's surface, The eoll s rotated in the magpetic
fleld us shown in Figure (h),

Jupld 3 kbl e S (g gt i (pafialihn Spa | Vyaha s (ol (3) Sl ilirs P
AD) Sl § o g g Vo g oo (paifil) Jahd § it
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" LA rEx
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L LR oeEw
x x LI L
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Flgure (b) &2

What happens when the coil is rotated in the magnetic field from the
position in Figure (a) to the position in Figure (b)? Explain why this
happens.
wpidan 2 5(D) KA Agnsny J] (8) JEA1 Aynsng (o patloliilf Jigph! § il 1005 s Sotoms|
i
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A. The north

indicator ¢

mmeter
pole of a magnet approaches a coil, and tl:e milli-a
onnected to it moves. The figure shows a
magnet as it approaches the coil.

eIy

ide view of the
W) el il LA
W.Mle;,:,..,d_““ﬁ”\du)}_yd,.u._Lho-.reb“*’-d\“" B

AL e gl 7B s3] palalihal) sl

Direction
of motion
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s
AT e
syl

Determine the

direction of the induced electric current
coil, and explain how
determine this).

generated in the
you got the answer (state the law you relied on to
Raatay S , . . Jazll Camieald '\J,ﬂ\)\.ﬂ\n\.{ﬂa:}:’
.,ulu,ulu;)a,qw.u..,u,swe.@nwdyl Susiaell S\
(3 suasedy dgle Siaaic)
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Emgnct faces the |

B. Figure (1)
hows two nets. The north pole N of the first
:::th Pole S of the secon. | magnet, The length of each is (£ = 20.0 cm) and
ﬂdd"ﬂgbt of eachis (h = 6. 00 cm). Between them is a uniform magnetic
YWas of strength (B = 54 mT). A taut wire connected to a milli-ammeter
pe noved from the lower end of the magnets to the upper end
ofrge“d‘ﬂlhr to the direction of the magnetic field lines during a time period
(At = 0. 2 5), as shown in Figure (2). Calculate the following:
SQ’LQJI "‘I"‘J'Q‘J.ﬁl sdoLia uUN UL“‘."" ladll LAy «On PEIEAEE A (1) Jsan E;:.,i B
btwr (R = 6.00 cm) Lga g plasly (€ = 20.0 €M) Loga IS Uglo 1 JUII asiolidal
..b,.l-.llo-ﬁ...ld.,;;,_,.” S9uie Sl s (B = 54 mT) wod plaiis gedelisa Jlxa
2105 50 U306 {palaial ] Jlankl doglas obasi! e Usgas atall chstall J] inmetialibal] Jialt
1l e s L(2) JSAII J gt 9o Le gl e (At = 0.2 5) aylada

Figure (1) Jsil

a) The induced electromotive force (EMF) generated in the wire.
bl §sutgill (EMF) il 200,31 dadludi 35200 (a

2aan
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b) The induced electric current passing in milli-ammeter, if you know

that the electrical resistance of the circuit is 2. 0 .
2.0 D 51l 2Ly aglall Gl cuale 13] « ual LI § 51 Emaaddl 3LySIG (b

)OO
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Are two light sources, one green and the other red, coherent, or

incoherent? Explain yvour answer.
wtivle] e Tinlayl A3k ol nlag] £ san| G et ] Laaiin] Gliiges Dlrdean D39Sy Ja B

!

g—

" C. A top view of the double-slit investigation erer
is shown in Figure. The wavefronts oaian
interfere constructively and destructively 3 “

| to form a pattern of light and dark bands. |/ \\3"

Sl a1 go5ll S Aupanat ot Llne K80 g3 € |7/
pr> Jolasl JuSal) daluag seliy oMl 3 Sl ol Slauia “

Determine the type of interference in each of the two figures shown

below? Mark|v'| the band that produces a dark band.
Aalad a3 Jany ol Jaaidl de | V7| 55L4] aiy Solial cliadadl calSall e JS d s\l gl ol

w0

ol
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B. Vou observe colored rings on o puddie and conclude that there must e
an ofl slick on the water. You look directly down st the puddie and see a
yvellow green reghon (2 < 555 nm ) 10 (ngy = 1 A% and (mey . 1393,
Answer the fallowing
e STl o Mk, Mk spm g o0 MY W) Camiinaty ohe My pla Ja Mglh sllie sge g Ldnetd (@

13 .(A S55 nm) Bl i Ml -,.l,auﬂ!wJA.VvJvl,Au:.p..ulg._

JY laa !l (N, L33)5.(n__, 1 AS) =
Ry
Ray 2

a) Determine in the following table, what happens to the wave (wave phase)
when it is reflected from each of the two surfaces: (air-oil) and (oil-
water), by placing a sign (v) in the appropriate box:

~elaedl) i : : il i Sty 13Le < JUI Jyuind! § 3ls (2
pianlil] GILI § () ByL8) peingy (o lh1-2as3dt) 3 (sl

Inversion | Noinversion
wllail wliail U

First reflection (air-oil)
S e )
(elali-Cyjll) il goisill

b) Find the minimum thickness of oil that could cause this color.
Ol 132 594 cud Cupll Adgdad clale 131 ol
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A. Young's doubles asure the wavelength of o
ng Ht experiment ean be used to me  r) APAFL, 8 SCTeen

given lght. In the Ngure below, the shits are (1 90 » 10
is placed (0 60 m) away, and the first order bright hand is ,
from the central bright band. Answer the following questions
Anstl 58150 slaa) an J Al -)-hJ"“ Jelalt algld Q"”’ 5""“ Sl Ay pmd pl_;hl--l Sy (b
O Ablaally (ARAN o (0. 60 ) aaf e AALAN cunimh (190 < 1077 W
WV RS e can (2,11 % 107 ) Aigeld u..)‘,;.u.,..n,J,'!‘w;’"‘”“""“*- g

(211 210 * m)

Sy | ”“J'mI

b) What happens to the intensity of the bright bands as we move awa
from the central band?

SIS, Aajardl (e Lioatl Ll ajandl Belia) Bid Saims 13ka (

¢) What would happen if white light was used instead of red?
§ yasdl ¢ gatall o Wty il ¢ guall ozt @3 13) Samy 13k

Continve... (Q4) ..gb
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